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S| HOHM S8 A X X & 100,000 0 100,000
403 XX SHHS K20 & 100,000 0 100,000
01 XIS AZ2E X 100,000 0 100,000
OsJIAHCHN S & X A& 100,000
AMANSEMIXA 231,000 231,000 0
403 XX EHHS A0 A 231,000 231,000 0
01 MXSHHXNE2EE X 231,000 231,000 0
OAZNZSEMIXNA 231,000
MHMASCAHAEI WS XR 100,000 30,000 70,000
307 212t0| & 100,000 30,000 70,000
04 QIZISHALE X2 100,000 30,000 70,000
(M NMASsCHS s M2U3 R XS 100,000
B XHOH A4 24 S} X & AFSY 100,000 150,000 A 50,000
403 XX SHHS K20 & 100,000 150,000 A 50,000
01 XIS A=Z2E X 100,000 150,000 A 50,000
[T HH XH HH 24 &2 5} X| & A 100,000
M2 XHA AP BER S 1,300,000 0 1,300,000
J| 1,000,000
& 300,000
403 XX SHHS K20 & 1,300,000 0 1,300,000
J| 1,000,000
& 300,000
01 MXSHHE2E =X 1,300,000 0 1,300,000
COMZ XA AP BER A 1,300,000
J| 1,000,000
&< 300,000
Al 2k M AR Al 2 JF Al A 15,000 0 15,000
303 ZA =2 15,000 0 15,000
01 a2 15,000 0 15,000
[J Al 2k A4 AFA| ZHIH D} Al A 15,000
SHASHEER 135,011,204 119,759,560 15,251,644
= 133,467,181
J| 800,000
o=t 744,023
AEtdsHAEXN=AH 1,947,000 3,191,394 N 1,244,394
= 1,947,000
308 XHXIEHSOIA 1,947,000 3,191,394 N 1,244,394
= 1,947,000
01 AIXSHMEMNEX= 1,947,000 3,191,394 N 1,244,394




AR mE43 SN ABHSYDY
HE: ABPsUIWHRD
el SIASHHEED CERED
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
Oxgd3=sgHE X2 1,947,000
= 1,947,000
MASSEMANZIEM 110,000,000 94,264,000 15,736,000
= 110,000,000
308 XXM SOIA 110,000,000 94,264,000 15,736,000
= 110,000,000
01 IXNHHBANEES 110,000,000 94,264,000 15,736,000
JMASSEMIEHR 2N 110,000,000
= 110,000,000
HASSESHAZIENM AL 22l 800,000 775,166 24,834
| 800,000
202 odl 10,000 10,000 0
| 10,000
01 = LH YI 10,000 10,000 0
OASSEMNIINSHMERF=E N 10,000
| 10,000
308 XXM SO0 A 790,000 765, 166 24,834
| 790,000
01 AXNSHHBLAEES 790,000 765, 166 24,834
OMASSEMAZ XS HMAG 22l 790,000
J| 790,000
ZAEUNAXNEXNEM(XH) 8,686,000 8,674,000 12,000
= 8,080,000
< 606,000
308 XtXIEHH SOl A 8,686,000 8,674,000 12,000
= 8,080,000
< 606,000
01 AXHHILEES 8,686,000 8,674,000 12,000
STl —F= NI ESES PNR==PX| 8,686,000
= 8,080,000
S 606,000
Z2AEHENFXEA 158,204 378,000 £219,796
2 140, 181
< 18,023
308 XX EHH SOl A 158,204 378,000 A 219,796
= 140,181
< 18,023
01 AXSHBLELS 158,204 378,000 A 219,796
O3 XF X =M 158,204
= 140,181
= 18,023
=ASI| B SHALS 3,300,000 3,000,000 300,000
= 3,300,000
308 XXM S0 A 3,300,000 3,000,000 300,000
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AR sE2M=2 SN HEZsAD
Ha: NEYSAYWARD
Sl BASIHASEUXAAL CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
403 XX SHHS K20 & 970,000 569,000 401,000
01 AIXISHHMA=Z2E X 970,000 569,000 401,000
OUSEsIJIE 2B DER 600,000
OWAE/ASR A XA 370,000
brssHMNEIANSHAE 52,500 0 52,500
403 XX SHHMS K201 A 52,500 0 52,500
01 MXSHAHXNE2EE X 52,500 0 52,500
Ol=SMMEIGHSHAEY 52,500
FTALHS Dt =4t B M S H DAY 20,406,975 18,842,350 1,564,625
J| 14,360,500
&< 6,046,475
WEDSEMAMALSSHHSAIS 16,360,050 15,316,350 1,043,700
J| 11,469,000
& 4,891,050
403 XX SHHS K20 & 16,360,050 15,316,350 1,043,700
J| 11,469,000
o 4,891,050
01 XIS A=2E X 16,360,050 15,316,350 1,043,700
O3 ALS ALY 14,020,050
J| 9,669,000
= 4,351,050
ONASSAESEUIAIE 2,340,000
J| 1,800,000
= 540,000
DANMSMACET] DB A ALY 2,589,675 2,520,000 69,675
J| 2,409,000
& 180,675
403 XX SHH S X201 A 2,589,675 2,520,000 69,675
J| 2,409,000
o= 180,675
01 XS A=2E X 2,589,675 2,520,000 69,675
OUNANMSMACTIIBFEAL ALY 2,589,675
J| 2,409,000
& 180,675
A EsHRH 156,000 156,000 0
J| 120,000
& 36,000
403 XX SHHS K20 & 156,000 156,000 0
J| 120,000
&< 36,000
01 XIS A=Z2E X 156,000 156,000 0
OuasgeEsSEaXH 156,000
J| 120,000
o 36,000




AR sE2M=2 SN HEBFSAD
Ha: NEYSAYWARD
Sl FTACHS 4 A MR DAY (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
MRS PO s A=< [ 830,000 850,000 A20,000
403 UHXISHHSA=0l& 830,000 850,000 A20,000
01 XM= E L 830,000 850,000 A20,000
=S5 2 H X & 450,000
CJFTAH S U X 2t == S 3t 300,000
O &Z A= M K& 80,000
BB+ EZ2INEMAHGN L 471,250 0 471,250
J| 362,500
< 108,750
403 MtXSHHS =0l & 471,250 0 471,250
J| 362,500
< 108,750
01 HXSHMA=2E X 471,250 0 471,250
OS2SR WHEN 471,250
J| 362,500
< 108,750
SHUSHASSUXN MG 342,000 342,000 0
S MAANLZHAY DX 312,000 312,000 0
403 MtXISHH S0l & 312,000 312,000 0
01 X SHHA2E = 312,000 312,000 0
Ot dMA 23S M 2K 2 312,000
HRZSZ2US3EINHXH 30,000 30,000 0
307 21201 A 30,000 30,000 0
04 BIZHHAIE XS 30,000 30,000 0
O Z=229Ea XA 30,000
OIS HADBHETY 14,613,661 14,903,000 A 289,339
= 3,810,507
J| 4,349,000
< 6,454,154
ANEHUHHUHXOIEEESAA 5,486,611 7,351,000 A 1,864,389
= 3,810,507
< 1,676,104
403 A X EHHS 20l A 5,486,611 7,351,000 A 1,864,389
= 3,810,507
= 1,676,104
01 X ESHHMA=E L 5,486,611 7,351,000 A 1,864,389
OAE2uduUXoIEEE3XI& 5,486,611
ONEZUNUXNEZEZALES XA 5,151,877
= 3,553,019
< 1,598,858
OANEENSHEAI LI ES X 334,734
= 257,488
< 77,246




AR mE43 SN ASHSYD
HE: ABPsUIWHRD
Hel: 0SB (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
AEHESLHNE 2,825,000 2,325,000 500,000
403 UHXISHHSA=0l& 2,825,000 2,325,000 500,000
01 XM= E L 2,825,000 2,325,000 500,000
OAasH=ssdXd 2,500,000
O AMat)|pretsX & 225,000
OLHSHE2HH SR =4S 100,000
IS MM AL = 11,000 10,000 1,000
201 ¢er24] 4,000 4,000 0
01 At 22l 4,000 4,000 0
O Yet==EH| 2,000
O2N2o2ENHERAUS 2,000
O=gl 2,000
OZAE=sdaIIet=lzA 2,000
202 04 tl 7,000 6,000 1,000
01 =LHOIHI 7,000 6,000 1,000
OsgAd=MatMEsSE=A 7,000
DFHIDIE MBHAIE X & 1,740,000 2,378,000 A 638,000
J| 1,200,000
< 540,000
403 X SHHSA=0l& 1,740,000 2,378,000 A 638,000
Jl| 1,200,000
= 540,000
01 AXSHMA2E X 1,740,000 2,378,000 A 638,000
ODFHI S MHEBAIE X & 1,740,000
J| 1,200,000
< 540,000
ANEAUHSENLXA 4,421,050 2,839,000 1,582,050
J| 3,049,000
< 1,372,050
403 MtXISHE X201 & 4,421,050 2,839,000 1,582,050
J| 3,049,000
< 1,372,050
01 X SHHAN2E= 4,421,050 2,839,000 1,582,050
OANE20SENAX A 4,421,050
J| 3,049,000
S 1,372,050
Flsts2ssHAASAME 130,000 0 130,000
J| 100,000
< 30,000
403 A X EHHSH20IA 130,000 0 130,000
J| 100,000
< 30,000




M ox
40 5 4

=43 SN B
SEEEREYn)
Ol = 2 48 44 ) 81 2 Cf

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HXSHMA2E X 130,000 0 130,000
OfNsds2FsHARSXE 130,000
J| 100,000
< 30,000
& - EENES=EY 3,291,792 2,597,238 694,554
= 1,200,000
J| 695,000
= 1,396,792
SEF0ME AT A 62,500 62,500 0
307 21201 A 62,500 62,500 0
02 2P AEXS 62,500 62,500 0
OREF0MAEH AT 62,500
LFLASHERA 364,092 361,038 3,054
403 A X EHS =0l A 364,092 361,038 3,054
01 X SHHX2E= 364,092 361,038 3,054
O3 sdid 317,760
OMs0SsSAIRH X & 46,332
NI 542,700 542,700 0
403 MtXISHHE X201 & 542,700 542,700 0
01 AXISHH A2 E= 542,700 542,700 0
Oatsadsdl 200,000
el adsdXd 342,700
JlsdLdFU=SEHANEZY 1,416,000 1,180,000 236,000
= 1,200,000
= 216,000
403 XSS A=0l& 1,416,000 1,180,000 236,000
= 1,200,000
< 216,000
01 XM A=2E X 1,416,000 1,180,000 236,000
DIsdLFAuSSEHANZEdXH 1,416,000
= 1,200,000
= 216,000
I ULHTHOHAIE ES X & 145,000 0 145,000
J| 100,000
< 45,000
403 MtXISHHE X201 & 145,000 0 145,000
J| 100,000
< 45,000
01 X SHHA2E = 145,000 0 145,000
R R=gu D\ Ko PAR---4= DAL 145,000
J| 100,000
= 45,000




A2 sxa3 SN ABHSYDY
HE: ABPsUIWHRD
Sl YT SBRERY (B9 ®R)
SA-EY B () NEAY - BYS O Ak o8 ﬁlf& HD=2
ESNSMMAEEUE XA 319,000 0 319,000
Dl 220,000
= 99,000
403 XX S S K201 A 319,000 0 319,000
J| 220,000
= 99,000
01 HXHNMAHESEE = 319,000 0 319,000
ESXUSMAAEEHHAH 319,000
Dl 220,000
& 99,000
DA HE PSR 442 500 0 442 500
Jl 375,000
& 67,500
403 XX S M S K201 A 442,500 0 442,500
Dl 375,000
== 67,500
01 MXHHNE2EE = 442,500 0 442,500
OS2HLHE RS 442 500
Dl 375,000
= 67,500
U=a2goUC YL NSELESY 1,158,000 1,525,000 A 367,000
= 916,000
o= 242,000
22|29 56,000 56,000 0
= 56,000
101 @121l 1,900 1,900 0
= 1,900
04 JI2ZtH 22 XNEE S 1,900 1,900 0]
JYRdeSEINBARARTARY 1,900
= 1,900
201 Bt A | 32,500 20,100 12,400
= 32,500
01 At 22l bl 32,500 15,100 17,400
Oaet4sH| 25,000
OS3sH=E0=0HYsSELL==2UHERAUS 25,000
= 25,000
O3l 6,000
OgzpeledENIA 6,000
2 6,000
Ogxz 1,500
OYTBASLIHBUHLZAIES 1,500
2 1,500
202 04| 21,600 34,000 A 12,400
= 21,600




AR mE43 SN HBASDY
Ha: NEYSAYWARD
S FRYDLZUULDEILEY CERED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2
01 2L I 21,600 34,000 A 12,400
Og=s2e2H 0| 21,600
= 21,600
el e DN 50,000 50,000 0
= 50,000
308 XNXISHH SO0l & 50,000 50,000 0
= 50,000
01 IXHHIMNEXZ 50,000 50,000 0
k=22 X & 50,000
= 50,000
RPCH =M &AL X & 780,000 1,050,000 A 270,000
= 780,000
403 XX SHHMS K201 A 780,000 1,050,000 A 270,000
= 780,000
01 XS A2E X 780,000 1,050,000 A 270,000
[JRPCAH =M & AIA X & 780,000
= 780,000
NEAMNBHESAH(EX) 39,000 65,000 A 26,000
= 30,000
& 9,000
308 XX G SOl A 39,000 65,000 A 26,000
= 30,000
& 9,000
01 AIXSHHEMNEX= 39,000 65,000 A 26,000
OJDNEZXNBUHC ML (NSEZAHLE) 39,000
= 30,000
o=} 9,000
AENTASHEAIES U st 45,000 135,000 A 90,000
403 XX SRS K20| & 45,000 135,000 A 90,000
01 MXHHE2BE = 45,000 135,000 A 90,000
(JHASHMAEHEALES U 45,000
MAHESHNEBXA 80,000 0 80,000
307 2I2t0| ™ 80,000 0 80,000
02 Q2AAMNEXS 80,000 0 80,000
OAHIENEEX 80,000
AEMLLLAHAHCESHOIAHE XS 18,000 0 18,000
308 XAHXIEHMSOIA 18,000 0 18,000
01 AIXSHMENEX= 18,000 0 18,000
OESNLLEHESSBOIHE XA 18,000
S2Z2HS0IHEEZHLY X 90,000 0 90,000
403 XX SHHS K20 & 90,000 0 90,000
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N = 0l & At & Ml A

SENM= A sESoHg
2ICHANEEXNsHED IR S
DIHESsSHE0IS MR (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Ei HR=2
Pl 208,467,304 229,049,793 N 20,582,489
= 26,612,564
2 169,606,000
& 12,248,740
QICHEEEXNsHED|IBIZS 207,393, 164 227,947,456 N 20,554,292
= 26,612,564
2 169,606,000
o= 11,174,600
DIHESHE0IS R 142,819,064 163,711,856 N 20,892,792
= 1,182,564
2 140,654,000
o= 982,500
sHEHOIZ2R XA 5,360,000 9,911,000 A4 ,551,000
2 4,850,000
= 510,000
403 XX S M S X201 A 5,360,000 9,911,000 A4 ,551,000
2 4,850,000
= 510,000
01 IS A2E X 5,360,000 9,911,000 A 4,551,000
OsH=HOZ2E XA (ZE 5,360,000
2 4,850,000
& 510,000
|[HEsHE0ISMHE =N 24,500 50,400 A 25,900
201 B9 18,100 44,000 A 25,900
01 AP 2t 2| H| 8,100 39,000 A 30,900
Ogsts2Y| 3,100
OdEtsMHENELRAENEROUS 3,100
Oeds¢ 5,000
OstHEINL AL AAIA R EA D AAEE 5,000
03 A2 E Y| 10,000 5,000 5,000
OsEXNEMEANGEAITS 10,000
202 04| 6,400 6,400 0
01 2Ll 6,400 6,400 0
Osz0ssalgges 6,400
Ao DISEE AL () 41,495,000 53,785,000 A 12,290,000
2 41,495,000
403 XX SHHS K2 0| & 41,495,000 53,785,000 A 12,290,000
2 41,495,000
01 MXSHHE2BE =X 41,495,000 53,785,000 A 12,290,000
OJHAUANESESESHH (s=)(ZEANZ) 41,495,000
2 41,495,000
HACUADSESSHH(TAIESH) 1,675,000 2,034,000 A 359,000
2 1,675,000




M ox
40 5 4

R.RN-ZE-E(HH) - HRAY - BES il Hl D = 2t

403 XXM S X201 1,675,000 2,034,000 A 359,000
& 1,675,000

01 XXM A2E = 1,675,000 2,034,000 A 359,000
OASALADISTE (S AIZ2Z)(BEANZ) 1,675,000
2 1,675,000

AAntESsSEHEFA 7,000 7,000 0

202 odl 7,000 7,000 0

01 S LHAOYI 7,000 7,000 0
OASHANSSEMNE =N 7,000

SHAMKNSEEH (s&) 72,011,000 000 719,000
= 72,011,000

403 XAtXIHM S K201 ™ 72,011,000 000 719,000
= 72,011,000

01 X SHMA2E X 72,011,000 000 719,000
OSHAMXNSEHU (sE)(BSEAND) 72,011,000
& 72,011,000

AOESZH(M2A0I2) 2,866,000 000 A 973,000
=1 2,866,000

403 XXM S X201 2,866,000 000 A 973,000
=1 2,866,000

01 XXM A=2E = 2,866,000 000 A 973,000
O&ROIS=H(HA0IE)(EEAT) 2,866,000
= 2,866,000

EMESAHY(sE) 11,067,000 000 A 3,200,000
& 11,067,000

403 XAXISH M S K201 A 11,067,000 000 A 3,200,000
= 11,067,000

01 AXSHMA2E =R 11,067,000 000 A 3,200,000
OsEMestA™d(FSA2) 11,067,000
= 11,067,000

EMESHATH (S AEH) 2,100,000 000 515,000
= 2,100,000

403 XAtXISHM S K201 ™ 2,100,000 000 515,000
= 2,100,000

01 IXSHMA=2EE 2,100,000 000 515,000
SEMESAMY (ZTAZHE)(ZEAND) 2,100,000
= 2,100,000

Jl=MEoI I ™Y (THIIOF2SHE ) 70,000 ,000 0
=1 70,000

403 XSS X201 & 70,000 ,000 0
=1 70,000

01 XXM A=2E = 70,000 ,000 0




2ICHAE=XsHED IR SH
OlHEsOHENSTHNE (Sl & &)
22T S(AA) - HRAY - BYS 0l &t o il HREZ
Ozl I (HOIOF2a M E ) (2S5 Al
=) 70,000
& 70,000
=SS MO EH ALK& 82,564 89,456 A6,892
= 82,564
202 Oddl 5,856 5,856 0
= 5,856
01 = LH 4 Hi 5,856 5,856 0
O2FMAABEAERFA 5,856
= 5,856
308 XXM SOl A 76,708 83,600 AN6,892
= 76,708
01 AXHHBLEES 76,708 83,600 26,892
=S MMM EAZSEX XS 76,708
= 76,708
SRR A 1,369,000 2,609,000 A 1,240,000
= 1,369,000
403 A X EHHS =0l A 1,369,000 2,609,000 A 1,240,000
= 1,369,000
01 AXSHHMA2E = 1,369,000 2,609,000 A 1,240,000
OFZXSAL(Z2SAZ) 1,369,000
& 1,369,000
MN=X+=8H33 x4 300,000 675,000 A 375,000
403 AXHHSH=0lA 300,000 675,000 A 375,000
01 RXISHAE 2 X 300,000 675,000 ~375,000
ORAR+HMEHBAES 300,000
SMEEALY 275,000 315,000 A 40,000
& 275,000
403 A X EHHS =0l A 275,000 315,000 A 40,000
& 275,000
01 AXISHHA=2E = 275,000 315,000 A40,000
O=sMEFAS (BEAZ) 275,000
= 275,000
sHES 2L MY 1,241,000 0 1,241,000
= 1,100,000
< 141,000
403 R SHH S X201 ® 1,241,000 0 1,241,000
=2 1,100,000
= 141,000
01 XXM 22 = 1,241,000 0 1,241,000
OsHENScI 22 A 1,241,000
= 1,100,000
=) 141,000




M ox
40 5 4

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

N2 sHALY 490,000 0 490,000
& 490,000

403 UHXSHHSA=0l& 490,000 0 490,000
= 490,000

01 X SHHMA=E L 490,000 0 490,000
OXNSA22ASAIL (ZSAZ) 490,000
= 490,000

KNS E2AO0OICI AL 2,386,000 0 2,386,000
& 2,386,000

403 XS HS K201 & 2,386,000 0 2,386,000
2 2,386,000

01 HXSHIEEE 2,386,000 0 2,386,000
CIXI &2 0H0ICI O AL (RIS AL ) 2,386,000
= 2,386,000

HHESEESTSS 14,702,300 15,467,500 AT765,200
= 2,230,000
= 11,549,000
< 923,300

NESSBLIME(XH) 6,594,000 7,322,000 A728,000
= 6,594,000

403 X SHS X =0l H 6,594,000 7,322,000 728,000
= 6,594,000

01 X SHHN2E = 6,594,000 7,322,000 A728,000
OXNE>SBLHE(FSAZ) 6,594,000
& 6,594,000

St HHI S =1 & 2,342,000 2,342,000 0
= 2,230,000
< 112,000

403 XIS H S K0l & 2,342,000 2,342,000 0
= 2,230,000
< 112,000

01 XM A=LE L 2,342,000 2,342,000 0
st bl =0 2,342,000
= 2,230,000
< 112,000

SESHUES Y 2,275,000 2,436,000 A 161,000
& 2,275,000

403 X SHHSA=0l& 2,275,000 2,436,000 A 161,000
& 2,275,000

01 X SHMA2E X 2,275,000 2,436,000 A 161,000
OsEsgdMdeassg(2SA2) 2,275,000
& 2,275,000

A2AE2EFHY 2,680,000 2,156,000 524,000

e

2,680,000




N e SN sENSD
EE BRI E I ESIFIEE
Sl HFESES4TZ CERED
S.o2N BB (BH) - SN - B2 O Ak o8 ﬁlf& HD=2
403 XX S S X201 A 2,680,000 2,156,000 524,000
2 2,680,000
01 HXHNMAHEE = 2,680,000 2,156,000 524,000
AR EL L (ZEANT) 2,680,000
2 2,680,000
SteHHI 240 (XHA) 800,000 1,200,000 A 400,000
403 XX S M S X201 A 800,000 1,200,000 A 400,000
01 HXHAMAHEBE = 800,000 1,200,000 A 400,000
Ot S L0 (XA 800,000
N Es=ENe=A 11,300 11,500 A 200
201 Bt A H| 1,800 2,000 A 200
01 AP 2t2l bl 1,800 2,000 A 200
O get=sH| 1,800
OsZ8NLYRHNENGERAUS 1,800
202 04| 9,500 9,500 0
01 2L Y| 9,500 9,500 0
OsES8s 22X 0| 9,500
IIHSG sI| 8= S 41,354,900 39,290, 100 2,064,800
= 23,200,000
F) 17,403,000
o= 751,900
= &EH X Hel 2,412,000 2,790,000 A 378,000
= 2,243,000
& 169,000
403 XtXISHH S K201 2,412,000 2,790,000 A 378,000
= 2,243,000
== 169,000
01 HXHXMAHEE = 2,412,000 2,790,000 A 378,000
OWFREAXNEE(ZETH]) 2,412,000
2 2,243,000
& 169,000
I HS B ZELE 6,747,000 7,851,000 A 1,104,000
2 6,747,000
403 XX S S K201 A 6,747,000 7,851,000 A 1,104,000
=z 6,747,000
01 HXISHNMAHEE = 6,747,000 7,851,000 A 1,104,000
OJIAHSIEEZ SR (ZSAD) 6,747,000
2 6,747,000
JIHSIBEHZ2ES T (T AESA) 840,000 451,000 389,000
2 840,000
403 XX S S K201 A 840,000 451,000 389,000
2 840,000




=R V- T RE-T1CE ) 0l &t o il HREZ

01 AR SHHA 2L 840,000 451,000 389,000
OJIHSZ &2 = 840,000
= 840,000

JIerE I 8,139,000 10,660,000 A2,521,000
= 7,573,000
=) 566,000

403 A X EHS =0l A 8,139,000 10,660,000 A2,521,000
& 7,573,000
=) 566,000

01 X SN2 E=x 8,139,000 10,660,000 A2,521,000
Ogoerdy (2S5 &dl) 8,139,000
& 7,573,000
& 566,000

= (HF) 23,000,000 13,972,000 9,028,000
= 23,000,000

402 212t X201 & 23,000,000 13,972,000 9,028,000
= 23,000,000

01 QIZEXt= 82 & 23,000,000 13,972,000 9,028,000
ObH==He (RE) 23,000,000
= 23,000,000

i == (K1 &) 200,000 3,549,000 A 3,349,000
= 200,000

403 AXSHHSXH=0lA 200,000 3,549,000 A 3,349,000
= 200,000

01 AXISHHA=2E = 200,000 3,549,000 A 3,349,000
O (KI&) 200,000
= 200,000

[HstE sI|gte = =2l 16,900 17,100 A 200

201 et2 Y| 1,800 2,000 A 200

01 AP 2tel ] 1,800 2,000 A 200
pt=2Hl 1,800
OsglgtzgAHeeRe S 1,800

202 044l 9,500 9,500 0

01 SLHOYI 9,500 9,500 0
Osgigtxdg2= 9,500

203 ¥R =&l 5,000 5,000 0

03 Al =AY R =& 5,000 5,000 0
Os&Eggexa 5,000

303 L& 3 600 600 0

01 243 600 600 0
OsgilgtE=dArd 600




M ox
40 5 4

P10 E SN s0HEI SRS
CMHoHOi I ==cl Al Z 8l

AR RN FH - G(BH) - A S o e
Mol CHBl =2l Al & Z HI ,516,900 9,478,000 A 961,100
THoH Ol & .= = = 2| Al &€ Z I ,000,000 7,000,000 A 2,000,000
403 Ut E X201 H ,000,000 7,000,000 A 2,000,000
01 X HHMA=ZLE L ,000,000 7,000,000 A 2,000,000
OMoiolg ===clAl& &l ,000,000
2 r=J| | 247,000 225,000 22,000
403 XSS =0l & 247,000 225,000 22,000
01 HIXSHMA2E X 247,000 225,000 22,000
O2FL eI FH| 247,000
CEEM=XFH ,000,000 2,000,000 1,000,000
403 MtXISHHE A0l & ,000,000 2,000,000 1,000,000
01 XM A=2EE ,000,000 2,000,000 1,000,000
O==A8 d=X13Hl ,000,000
==X H e &l 258,000 241,000 17,000
403 XIS E X201 & 258,000 241,000 17,000
01 X SHHAN2E = 258,000 241,000 17,000
OM=XHMZ &l 258,000
MHoHCHEl =2l A2 B HI=& 11,900 12,000 A 100
201 €82l 2,900 3,000 A 100
01 At 22l 2,900 3,000 A 100
Oggt=2tl 900
OMoitidl=cIANEEHHIHEXNZ R 900
E=3=q:] 2,000
OMoitidIHl & 2RS4l 2,000
202 044l 9,000 9,000 0
01 = LH 4 1l 9,000 9,000 0
OOMoitidl =cl A& EH I H R = 9,000
HE2HZH (sEHL D) 50,140 50,337 A197
ol 2d | 22,440 21,137 1,303
ol 2l 22,440 21,137 1,303
101 @124l 22,440 21,137 1,303
03 RIAHAZZRHE > 22,440 21,137 1,303
O=23"Mat2te| 22,440
OPIE--3= 42,180 *1H »250 10,545
Od0= 10,550, 000& = 1/12+400% 3,517
O=s=¢ 42,1803 18 «52= 2,194
OHxt=< 42,1803 1 18 760
OF=E=E = 42,0002 «1H « 128 504




NN =M
M HES AR (SENL D)
Sel: o2y SEREED
- RE]
oSN (BH) - NEAY Ol At o %@ﬁ HRE2
OnsEExH| 60,000 x1H x12& 720
OY &5 IHH| 600,000 12 x23] 1,200
OdHZAH| 130,000& x1H x12& 1,560
OJIELY(HHRXH) 40,0003 x1H x12& 480
OJI=Ex=Z(JIEIE) 20,0003 x4 x12& 960
|23 d| 27,700 29,200 A 1,500
o123l 27,700 29,200 A 1,500
201 Bt 18,700 20,200 A 1,500
01 AP 22| H| 18,700 20,200 A 1,500
Ogsts2Y| 13,500
O E2ELHEIN2AHIRASES 1,500
OLEINIRSEFLLIEIE=SH| 5,000
OZ2KMMYRFAINZ RO 1,000
OARHEESERLHIS 6,000
O3 &t 5,200
SENL S L= ZAH| 5,200
202 04| 9,000 9,000 0
01 2L Hl 9,000 9,000 0
OsEHe g2 =X 0| 9,000
S =S (s=HgeD) 1,024,000 ,052,000 A 28,000
PSPNES 1,024,000 ,052,000 A 28,000
22N &N E 4 (06X HMLIN2) 1,024,000 ,052,000 28,000
705 l==_cl 24 1,024,000 ,052,000 A 28,000
03 Al - EXYGHED S22 4 800,000 800,000 0
OZCIAEME (06K EIHLDIZ) 800,000
04 Al - SR YHED| S0l 4=30| Xpakst 224,000 252,000 A 28,000
O4CclAIEMNE2=('06XEHEI2) 224,000




= A
A & 0l & AF 2 E A A
A sEUR SN EA4EYD
Hu: SMYUHAY
S9 YSSHLYBHAY (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SM4Z I 78,095,908 69,257,822 8,838,086
= 19,382,447
= 800,000
J| 33,061,494
< 24,851,967
SAH Y EAY 76,333,268 67,738,932 8,594,336
= 18,930,647
& 800,000
J| 33,061,494
< 23,541,127
ZEESSIAMY 4,670,800 5,620,310 A 949,510
ZASILEHER A 720,600 435,000 285,600
307 21201 A 75,000 75,000 0
02 BInHFAEXS 75,000 75,000 0
LS REHEMEZ2EHHI X & 75,000
308 X EHHSOIA 540,000 360,000 180,000
01 HIXNHHNBMNEELES 540,000 360,000 180,000
OZMg2=4 (ONA) X & 90,000
Oetel1S=ssotdd=2X&E 450,000
402 RI2EX 20| ™ 105,600 0 105,600
01 2I2tX2E X 105,600 0 105,600
ZASEHEHUSE X 45,600
O2ASIREHEALEMNESXE 60,000
SOHXI 4 AHRHA ALY 180,000 565,800 A 385,800
308 XtXIEHH SO0l A 180,000 229,800 A 49,800
01 AXHHIYEES 180,000 229,800 249,800
LIS 0FX 24 AFOFE AL 180,000
St AL 656,100 519,000 137,100
308 MXIEHSOIH 634,500 519,000 115,500
01 HXNHHNBHEELS 634,500 519,000 115,500
OetegALrsdHEAMY 519,000
Ot 0l A ALY 115,500
403 A X EHS =0l A 21,600 0 21,600
01 XXM A2E = 21,600 0 21,600
OstL0lEHI2ZEIHIIXNA 21,600
S&s IR K& 711,000 594,900 116,100
403 MHXSHHSA=0l& 711,000 594,900 116,100
01 X ESHMA=E L 711,000 594,900 116,100
OF&sHIIXMIA 711,000
SHEMHELES 1,375,100 1,175,000 200, 100
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= L AR R = R
B OEMNSUTAY
?: ZEERHEESAY CEE-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ofl At o %Eﬁ HR=2
SAMCHAES AKX 50,000 30,000 20,000
307 2Iz2t0| A 50,000 30,000 20,000
04 QIZtSH AL X 2 50,000 30,000 20,000
OSASH I A S S & AK & 50,000
AMNS A 16,041,900 13,677,800 2,364,100
J| 9,093,000
== 6,948,900
TASMAD|BHE S 14,153,300 11,523,000 2,630,300
J| 9,093,000
= 5,060,300
403 XX SHHS K20 & 14,153,300 11,523,000 2,630,300
J| 9,093,000
= 5,060,300
01 XIS A2 X 14,153,300 11,523,000 2,630,300
OZFAISHAD|BHE S ALY 14,153,300
J| 9,093,000
o= 5,060,300
TAIS M A& A 1,888,600 2,154,800 A 266,200
307 QI2t0| & 40,000 0 40,000
02 A2tAMNEBEXZ 40,000 0 40,000
OFASHAMIsES 40,000
308 XX SHHSOIH 720,000 468,000 252,000
01 AIXSHMEMNEX= 720,000 468,000 252,000
O XIANSAIEHR XS 405,000
OJXEBIASMAMCT] A 315,000
403 XX S M S K201 H 1,128,600 1,686,800 A 558,200
01 MR SHAHXNE2EE X 1,128,600 1,686,800 A 558,200
OZAIZ M AEH| X & 957,600
CJoll 2 =AIS 4 & 90,000
OMZHMEAE XS 81,000
FENHER S22 7,571,031 7,414,308 156,723
= 32,000
2 800,000
J| 4,174,887
= 2,564,144
CEHANFS2IERSE 725,000 570,860 154,140
Jl 435,000
= 290,000
307 212t0| & 725,000 570,860 154,140
Dl 435,000
o= 290,000
02 It A X2 725,000 570,860 154,140




42 5543 SN EMALD
HE: ENAUTAY
el SERsS2 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O=E=23MI2EX2 725,000
J| 435,000
< 290,000
FAS0I R 1,342,829 1,436,698 A 93,869
J| 1,029,887
= 312,942
307 21201 A 11,357 22,714 A 11,357
J| 5,678
< 5,679
02 P AEXS 11,357 22,714 A 11,357
=42 00 2 I (ONAZ AtHL) 11,357
J| 5,678
< 5,679
308 AHAIEHHSOIA 1,331,472 1,413,984 A82,512
J| 1,024,209
< 307,263
01 HXNHHNBMNELS 1,331,472 1,413,984 A82,512
O=SMES0 M (HEREY]) 1,331,472
J| 1,024,209
< 307,263
EMSHACCPAHAE E (s &) ALY 196,000 352,800 A 156,800
J| 160,000
< 36,000
308 XXM SOl A 196,000 352,800 A 156,800
J| 160,000
= 36,000
01 IXNHHBNEES 196,000 352,800 A 156,800
O A SHACCPHEE (s & )AL 196,000
J| 160,000
< 36,000
SESssse4E 612,300 711,750 299,450
308 XtXIEHHSOIA 141,750 141,750 0
01 AXHHILEES 141,750 141,750 0
OADI0Edx=HHMAE XA 141,750
403 Mt SHHSA=0l& 470,550 570,000 99,450
01 HXSHMA=LE L 470,550 570,000 A 99,450
O sHMHEXRZ 337,500
OASHNEIZSEZHI| XA 108,000
Osu=ssSHEl 25,050
NS 152,500 168,000 A 15,500
202 O4dl 30,000 25,000 5,000
01 =L 4 dl 30,000 25,000 5,000
OSSN0t 30,000




A3 sE4I M SNFYD
Ha: EMYUHAY
o9l saERsHe (29l 8)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 44,500 65,000 A 20,500
02 RIZHENEXS 24,500 35,000 A 10,500
OZ2SEHETH WA 24,500
04 BIZtHAIE RS 20,000 30,000 210,000
OFMSOHAGE UM AH XA 20,000
308 MXIEHSOIH 78,000 78,000 0
01 HXNHHBHEELS 78,000 78,000 0
OSNMSEHEEE IS M XA 12,000
OFMSAHSUHAMIZ 66,000
sk 547,200 610,200 263,000
308 XtXIEHH SOl A 117,000 117,000 0
01 AXHHILEES 117,000 117,000 0
ORASHMNSA 104,400
O\R*zd MG 12,600
403 Ut S S A201 & 430,200 493,200 A 63,000
01 X SHHAN2E = 430,200 493,200 263,000
EE=PIPAPPNE:! 406,800
O=S8E8YERNSESTIZIEAL 23,400
SHENHI=SS MR 896,000 504,000 392,000
& 800,000
< 96,000
403 UtXISHH S =0l & 896,000 504,000 392,000
& 800,000
< 96,000
01 X SHMA2E X 896,000 504,000 392,000
OdblSHet s SHEHAZE X (F ST H) 896,000
& 800,000
< 96,000
StNeIRSAXA 3,060,002 3,060,000 2
J| 2,550,000
< 510,002
308 XX EHHSOIA 3,060,002 3,060,000 2
J| 2,550,000
< 510,002
01 AXHHILEES 3,060,002 3,060,000 2
Ostnsesrsa X 3,060,002
J| 2,550,000
< 510,002
ESLUSHACCPAE EH (DI E) ArY 39,200 0 39,200
= 32,000
< 7,200
308 A EHHSOIA 39,200 0 39,200




AR SEMZ M SMFEY
Hu: SMYUHAY
o9 BMERS B (25 & @)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 32,000
< 7,200
01 IXNHHBNEES 39,200 0 39,200
OIS A SHACCPH A E (Dt & )AL 39,200
= 32,000
< 7,200
It S A 26,033,964 26,555,563 A 521,599
=2 18,178,844
J| 2,170,107
= 5,685,013
SRASHES Y (OtFYHA) 323,568 323,568 0
2 161,784
< 161,784
206 24 323,568 323,568 0
2 161,784
< 161,784
01 MHZ 4l 323,568 323,568 0
Os=dsgogast 323,568
2 161,784
< 161,784
IISYSAERLH (HFLA) 8,167,231 8,959,062 AT91,831
= 6,979,483
< 1,187,748
308 AAIEHHSOIA 8,167,231 8,959,062 AT91,831
= 6,979,483
< 1,187,748
01 HIXNHHBHEELES 8,167,231 8,959,062 AT91,831
OotEgeiorZ et 8,167,231
= 6,979,483
< 1,187,748
AERMAAHNEEZH (OI5LA) 964,792 964,792 0
= 567,525
< 397,267
308 XXM SO A 964,792 964,792 0
= 567,525
< 397,267
01 IXNHHBMNEES 964,792 964,792 0
OAESHActEME 2 E 964,792
= 567,525
< 397,267
o= BIXI&OOIs29) 136,500 45,500 91,000
= 105,000
= 31,500
403 A XIEHHS =0l A 136,500 45,500 91,000
= 105,000
< 31,500




A3 sE4I M SNFYD
HE: ENAUTAY
Sl ISP ALY CERED
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET

01 HXSHMA2E X 136,500 45,500 91,000
OYAEH XA 136,500
= 105,000
< 31,500

IIEAMLA=ZL2TAOISEE2EU M) 1,257,500 1,257,500 0
J| 754,500
< 503,000

307 21201 A 1,257,500 1,257,500 0
J| 754,500
< 503,000

02 QIAHFAEXS 1,257,500 1,257,500 0
Oge @iyl 1,257,500
J| 754,500
S 503,000

HQNA2ELHESRNEXN R AL 120,900 120,900 0
= 93,000
< 27,900

308 MtXIEHMSOIH 120,900 120,900 0
= 93,000
< 27,900

01 HXNHHNBHELS 120,900 120,900 0
OHXNASHE S AL 120,900
= 93,000
= 27,900

HEASOLSYOISHYIBUY) 1,840,285 1,840,285 0
J| 1,415,607
< 424,678

308 XX EHHSOIA 1,840,285 1,840,285 0
J| 1,415,607
< 424,678

01 IXNHHBNEES 1,840,285 1,840,285 0
OasXE22| 834,585
J| 641,992
< 192,593
OAasAZsSAE 1,005,700
J| 773,615
= 232,085

AHEEHNSAE 10,750,000 10,750,000 0
= 10,000,000
< 750,000

308 XX EHSOIA 10,750,000 10,750,000 0
= 10,000,000
< 750,000

01 HIXNHHNBNEELS 10,750,000 10,750,000 0
OadzeazNdE 10,750,000
= 10,000,000




A3 sE4I M SNFYD
HE: ENAUTAY
Sl ISP ALY CERED
- — — L=
AR .24 FHH .G (3H) - HEAY - BES Ol At o ﬁlgﬁ HRE2

| = 750,000

YN ALS 2,119,520 1,857,940 261,580

206 M Hl 100,000 100,000 0

01 =4l 100,000 100,000 0
o238 <y| 100,000

308 XAHXIGH SO0l & 1,633,120 1,416,480 216,640

01 AIKSHHENEXZ 1,633,120 1,416,480 216,640
OFHSSLSAS 264,000
OJIs28u X 560,640
OJ=s2 A AHH X & 264,000
O34 AX& 305,280
[JYHAAEY A H A 198,000
OXF IO M A& A 25,200
OFMEIIMSAZH X & 16,000

403 XX SRS K20 & 386,400 341,460 44,940

01 XIS A=2E X 386,400 341,460 44,940
OASAIE XS ALS 386,400

EMUSEEN 353,668 436,016 N 82,348
= 272,052
o 81,616

308 XX SHHSOIH 353,668 436,016 N 82,348
= 272,052
= 81,616

01 IXHHIMNEEXTZ 353,668 436,016 N 82,348
OFANEFSENM 353,668
2 272,052
& 81,616
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-2 (255 ) 3,314,800 x2H x12& 79,556
-72(1282) 2,358,300 2 x12& 56,600
-82 (125 8) 2,116, 7003 x1H x12& 25,401
- (B E) 4,918,400 x1H x12& 59,021
-HRA(27TEE) 3,337,400 x3H x12& 120,147
-Jls72((2858) 3,106,000& »4H x12& 149,088
-J|ls82(2vs8) 2,719, 700& x4 128 130,546
(OF-F=ra=; 620,359,000& x1/12 51,697
O&Zx=gotdt=2 18,480
- 20 Ol & 100,000 »12H x12& 14,400
- 154 0| &~20E 0] 2t 80,0003 x3H x12& 2,880
- 109 0l &b ~15 0] 2F 50,000& »2H x12& 1,200
O+ 91,368
(@FJo: =1 10,236
-RsREY 10,236
6= (2655 2)
3,209,200& x4 . 1%*1H x12& 1,579
ls83 (255 8)
2,633, 100& x4 . 1%*3H x12& 3,887
AN (27TE )
3,231, 100& x4 . 1%*3H x12& 4,770
ONAHEBELY 20,394
-tEsY 14,880
- B X 40,0003 x18H x12& 8,640
- JIEFIFS 20,000& x18& x12& 4,320
PiRS= 80,000& x2H x12& 1,920
- XMHESHHI B XS 5,514
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OS2 2Y 7,200
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- RS 80,000& x4H x12& 3,840
Oxm2REHgS 52,338
-yHME 9,692% x10Al 2tx18H x12& 20,935
-2 =2 9,692 x15A| 2tx18H x12& 31,403
Oz 1,200
-REHSRA 50,0003 x2H +12& 1,200
O™ HZAH| 130,000& »18H x12& 28,080
OY&E F Oty 620,359,000 *1/12x60%*23] 62,036
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=&l 142,550 118,850 23,700
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SN -FH-SA(BA) - HRAY - B 0l &t o8 il HlnE2

OPC(4TH) 5,800

OZHAZ=IH (1) 1,500
EA2E 60,000 50,000 10,000
MRAE=LZREZ N 60,000 50,000 10,000
401 AIEBIZ 201 8I 60,000 50,000 10,000
01 A& tl 60,000 50,000 10,000

OJ2e/AE=BAtS 30,000

OASEASTAARAOIN I A 30,000
HYRIAZH (S AMAE L AR D) 1,091,845 1,047,396 44,449
A29l 948,295 900, 956 47,339
A2l 948,295 900, 956 47,339
101 @144 Hl 919,255 866,576 52,679
01 2 720,068 683,543 36,525

s 521,695

Oz =H 471,484

-53 (308 8) 3,976, 1003 x1H 123 47,714

-6= (162 8) 2,881,800& x6H +x12& 207,490

-73(588) 1,817, 1003 x6H 12 130,832

-8=(653) 1,707,900& x1H x 123 20,495

SHRAAH(NEE) 2,436,500& x1H x12& 29,238

-Jls73(2458) 2,976,200& x1H x 123 35,715

OFSE=Ea=y 471,484 ,000% *1/12x50%*23] 39,291

OFSF=t =PI Fig= 10,920

- 2530 & 130,000& x3H »12& 4,680

- 15401 &f204 0] 8¢ 80,000 *1H «12& 960

- 104 01 &f 154 O] 2t 60,0003 «4H «12& 2,880

- 5@ 01410 01 8t 50,000 «4H x12& 2,400

O=g 104,863

O+ 3,185

-HREREAE 3,185

Seli® 3,235,800& x4 . 1%*x2H 128 3,185

ONHAEE = 24,316

-tEsg 14,640

i < Xt 40,0002 x16H « 12 7,680

- JIEFILS 20,0003 x25H «12& 6,000

i = 80,000 1 128 960

- NEEHEESE 3,676

nsstu 459,500 x2H 43 3,676

-SSR Y 500,000 «1H 128 6,000

OE+2f+E 30,240




EERE SN OHEM E PP
HHSAAH (IIEAMAIE A AEXA)
elE2EH 2 &A)
KB . 29(3H) - HEAY - By o A o il 2
-FAEIRY 7,200
=5 50,0003 x 12 x12& 7,200
-S4 (JsdESLY) 480
7=20]| 3t 30,0003 *1E +x12& 360
DRSS (AHE DAL 10,000& x1H 128 120
-ELURLAS (92 HARSO LG 21,600
SO AE S RA 150,000& x12H = 12& 21,600
-SE4HRAY (AR L) 960
ARXNZBR2A 80,000& x1H ~12& 960
OxzU2R+HS 46,522
-AZE 2R E 46,522
HHZ 9,692 x10Al 2t x 16 x 128 18,609
X E 9,692 x15A| 2tx16H x12& 27,913
ORYESRISY 600
-RHSRA 50,0003 *x1H x12& 600
O™ HZAH| 130,000 x16H x12& 24,960
OY&E 50| 471,484 ,000& *1/12x60%*23] 47,149
OS2 At
471,484,000 *1/12%86%*1/30%x 19 21,401
02 JIEHA 2 %= 56,700 56,374 326
S LA A 56,700
OAZt22< 9,600
-HHZ 6,400 *10Al 2t x5 x 128 3,840
- X2 6,400& *15A| 2 x5H 128 5,760
ogdssided=2 600,000& x5H x12& 36,000
O=2WoH-l 150, 000& x5 x12& 9,000
Ol =t 150,000& x5H »23] 1,500
Ou =l 300,000 x2H x13] 600
S22 B S 142,487 126,659 15,828
OFAMNZ2LALINSHIASMESSIAMAEEZR 142,487
[OPIR==] 42,1803 »6H x250 63,270
oan=3 63,270,000 *1/12x400% 21,090
OF&¢Y 42,1803 6 52 13,161
OdR2=E 42,1802 »6H x20 5,062
o=2s52Y 2,544
ONns< 5,280
- BH < Xt 40,0003 x6H x12& 2,880
- JIEHDHS 20,000& x10H ~12& 2,400
Ons 2 x| 60,0003 x6H x12& 4,320
OY ZE I 600,000 x6H x23| 7,200
O HZAH| 130,000 *6H x12& 9,360
Ol =t 200,000& x6H 1,200
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O&S=s23AMMzs72Y 10,000
O SSHALS 3,500
405 X+H&HF SHI 4,500 0 4,500
01 A&t =S F SHI 4,500 0 4,500
OAEO0FA (1Y) 4,500
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(GRS = PN = 14,160
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-3ME 9,692& x10Al 2tx16H x12& 18,609
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